13. What is the equation of the

Fy=vatz+l
Gy=vx—2+1

2_::

14. Simplify 2Vx - 5vx - 3Vx .

15. What is the length of a diagonal o e with a length of 8 meters and a width
of 6 meters?

CHE=C 2N

16.
16. Determine which side measures form a right triangle. z
A 10,24, 28 B 13:17.21 & 4,45 D5, 12{13
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1. reflected across the x-axis;
D={x|x=0L,R={y|y=<0)
y

2. compressed vertically;
D={x|x=0,R={y|y=0}
y

Graph each function, and compare to the parent
graph. State the domain and range. 1-4. See margin.

1.
2.
3.
4.

y=-—vx

y=4V%

y=vx+5

y=Vx+4

MULTIPLE CHOICE The length of the side of a

square is given by the function s = VA, where A
is the area of the square. What is the perimeter of
a square that has an area of 64 square inches? C

A 64 inches
B 8 inches

C 32 inches
D 16 inches

3. translated up 5 units; D = {x| x= 0},R = {y 4. translated left 4 units; D = {x | x = —4}

| y= 5}

R={y|y=0}

y y




15. What is the length of a diagonal of a rectangle with a length of 8 meters and a width

of 6 meters? 6

16. Determine which side measures form a right triangle. 6
A10,24,28 B13,17,21 CV3.V4.45 D5, 12,13

17 .SAILING A 12-foot cable attached to the top of the mast of a sailboat is fastenedtoa
point on the deck 4 feet from the base of the mast. What is the height of the mast?

~/P)1

Bonus: Find out when you take the test ©
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Simplify each expression.
6. 5V/36 30 =S ¢

3
7. -3 —3v2
1—-v2

8. 23 +7V3 93
9. 3v/6(5V2) 30V3

10. MULTIPLE CHOICE Find the area of the rectangle. H ‘.

214
F 7V2
G 14
H 14V2
J 98V2 %
Solve each equation. Check your solution. /



Solve each equation. Check your solution. < \3

11. V10x =20 40 12. Vax-3=6—-x 3 <G>-><\co--><)
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10. MULTIPLE CHOICE Find the area of the ncctangl

2V14
77
F 7V2 R ICER VA4
G 14 -
H 14V2 f-'?;'\](,l
] 98V2

-?:.



13. PACKAGING A cylindrical container of chocolate
drink mix has a volume of about 162 in®. The
radius of the container can be found by using the

formula r = %, where r is the radius and h is

the height. If the height is 8.25 inches, find the
radius of the container. about 2.5 in.

Find each missing length. If necessary, round to the
nearest tenth.
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